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Ans x 1. ﬁ?\:fq'
X2 SEATY
V3 geaT

X 4. FHASIECRIOT

Question Type :
: 630680296153
: 6306801152283
: 6306801152280
Option 31D :
Option 41D :
Status :
Chosen Option :
Marks :

Question ID
Option 1 ID
Option 2 ID

McQ

6306801152282
6306801152281
Answered

3

2
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X 2. T FEHR FIOL.

X 3. FIT Q0L

4. FIERT 3eck o Sl JhIedTe Ty TH0L.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :
Chosen Option :
Marks :

McQ
630680296147
6306801152259
6306801152258
6306801152256
6306801152257
Answered

4

2




Q.3

Ans

Qrelr feeear JeFarm=r qareT Hiesar.

X1 g
X 2 sTEehedT T
X 3 FHEUT g
4 Sy g
Question Type : MCQ
Question ID : 630680296139
Option 11D : 6306801152226
Option 2 ID : 6306801152227
Option 31D : 6306801152224
Option 4 ID : 6306801152225
Status : Answered
Chosen Option : 4
Marks : 2
Q4 .
hedl AT e m?-mﬁ ec 35T
e X
X2 grar
X3 st
o 4. H?-IJGIT
Question Type : MCQ
Question ID : 630680296143
Option 11D : 6306801152241
Option 2 ID : 6306801152243
Option 3 1D : 6306801152242
Option 4 1D : 6306801152240
Status : Answered
Chosen Option : 4

Marks :

2
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Question Type : MCQ
Question ID : 630680296159
Option 11D : 6306801152304
Option 2 ID : 6306801152306
Option 31D : 6306801152307
Option 4 ID : 6306801152305
Status : Answered
Chosen Option : 2
Marks : 2

0 FEUT TET AT T FTET ISP’ AT IFITET THR HISET.

Ans x 1. ﬁ
X 2. FepTaTedt

Question Type : MCQ
Question ID : 630680296140
Option 11D : 6306801152229
Option 2 ID : 6306801152230
Option 31D : 6306801152228
Option 4 1D : 6306801152231
Status : Answered
Chosen Option : 2
Marks : 0
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Question Type : MCQ
Question ID : 630680296148
Option 11D : 6306801152261
Option 21D : 6306801152263
Option 31D : 6306801152262
Option 41D : 6306801152260
Status : Answered
Chosen Option : 4
Marks : 0
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Question Type : MCQ
Question ID : 630680296158
Option 11D : 6306801152301
Option 21D : 6306801152303
Option 31D : 6306801152300
Option 4 ID : 6306801152302
Status : Answered
Chosen Option: 3
Marks : 2
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Question Type : MCQ
Question ID : 630680296142
Option 11D : 6306801152236
Option 2 ID : 6306801152238
Option 31D : 6306801152237
Option 41D : 6306801152239
Status : Answered
Chosen Option: 2
Marks : 2
Q.10
‘TAF AT =T TaTardt e iear.
A X gl
X 2. HT9@ES
g
X4 TGT

Question Type : MCQ
Question ID : 630680296146
Option 11D : 6306801152254
Option 2 ID : 6306801152255
Option 31D : 6306801152252
Option 4 ID : 6306801152253
Status : Answered
Chosen Option : 4
Marks : 0
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Ans X ST
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Question Type : MCQ
Question ID : 630680296162
Option 1 ID : 6306801152316
Option 2 ID : 6306801152319
Option 3 ID : 6306801152317
Option 4 ID : 6306801152318
Status : Answered
Chosen Option : 1
Marks : 0
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Question Type : MCQ
Question ID : 630680296155
Option 11D : 6306801152291
Option 2 ID : 6306801152290
Option 3 1D : 6306801152289
Option 4 1D : 6306801152288
Status : Answered
Chosen Option: 3
Marks : 2
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Question Type : MCQ
Question ID : 630680296150
Option 11D : 6306801152269
Option 21D : 6306801152271
Option 31D : 6306801152270
Option 4 ID : 6306801152268
Status : Answered
Chosen Option: 3
Marks : 2
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Question Type : MCQ
Question ID : 630680296151
Option 1 ID : 6306801152272
Option 2 ID : 6306801152274
Option 31D : 6306801152273
Option 4 ID : 6306801152275
Status : Answered
Chosen Option : 2
Marks : 2
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Question Type : MCQ
Question ID : 630680296144
Option 11D : 6306801152247
Option 2 ID : 6306801152245
Option 31D : 6306801152244
Option 41D : 6306801152246
Status : Answered
Chosen Option : 1
Marks : 2
Q.16 =t hd oy
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Ans X 1.
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o 2.
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Question Type : MCQ
Question ID : 630680296163
Option 11D : 6306801152320
Option 2 ID : 6306801152321
Option 3 ID : 6306801152323
Option 41D : 6306801152322
Status : Answered
Chosen Option : 2
Marks : 2
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Question Type : MCQ
Question ID : 630680296157
Option 11D : 6306801152296
Option 2 ID : 6306801152299
Option 31D : 6306801152297
Option 4 ID : 6306801152298
Status : Answered
Chosen Option : 1
Marks : 0
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Question Type : MCQ
Question ID : 630680296152
Option 11D : 6306801152279
Option 2 ID : 6306801152276
Option 31D : 6306801152277
Option 4 ID : 6306801152278
Status : Answered
Chosen Option : 4
Marks : 2
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Ans
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Question Type : MCQ
Question ID : 630680296145
Option 11D : 6306801152249
Option 2 ID : 6306801152250
Option 31D : 6306801152251
Option 4 1D : 6306801152248
Status : Answered
Chosen Option : 1
Marks : 0
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Ans
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X1.ﬁa‘g
X 2. ATHE
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X 4 W

Question Type : MCQ
Question ID : 630680296154
Option 1 ID : 6306801152287
Option 2 ID : 6306801152286
Option 31D : 6306801152285
Option 4 ID : 6306801152284
Status : Answered
Chosen Option : 2
Marks : 0
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Question Type : MCQ
Question ID : 630680296141
Option 1 ID : 6306801152232
Option 2 ID : 6306801152235
Option 31D : 6306801152233
Option 4 ID : 6306801152234
Status : Answered
Chosen Option: 3
Marks : 2

Q.22

Ans
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X 4 gy

Question Type : MCQ
Question ID : 630680296149
Option 1 ID : 6306801152265
Option 2 ID : 6306801152264
Option 31D : 6306801152267
Option 4 ID : 6306801152266
Status : Answered
Chosen Option: 3
Marks : 0
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Ans

(CCES
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Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

MCQ
630680296156
6306801152293
6306801152294
6306801152295
6306801152292
Answered

3

0
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Ans
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Question Type :
Question ID :

: 6306801152309
: 6306801152310
Option 31D :
Option 41D :
Status :

Chosen Option :
Marks :

Option 1 ID
Option 2 ID

McQ
630680296160

6306801152311
6306801152308
Answered

4

2
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680296161
6306801152312
6306801152313
6306801152314
6306801152315
Answered

2

0

Section : English Language

Q.1 Select the most appropriate meaning of the given idiom.

Don't cast pearls before swine.

Ans 4 1. Don't offer something valuable to someone who does not value it.

< 2. Don't make plans based on future events that may not happen.
/< 3. Don't unnecessarily worry about a situation in advance.

Z< 4. Don't act badly toward the person who has helped you.

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680274497
6306801066500
6306801066501
6306801066499
6306801066502
Answered

2

0




Q.2 Select the most appropriate articles to fill in the blanks (¢ indicates no article needed).

Heplays_____ harmonium very well, but not

Ans " 1.the; the

guitar.

X 2.the; o
X300
X 4. ¢, the
Question Type : MCQ
Question ID : 630680274414
Option 11D : 6306801066170
Option 2 ID : 6306801066168
Option 31D : 6306801066167
Option 4 1D : 6306801066169
Status : Answered
Chosen Option : 1
Marks : 2
Q.3 Select the most appropriate option to fill in the blank.
After surgery, Amrit lost his appetite.
Ans " 1. voracious
75 2. swinish
/5 3. favourable
/X 4. haggishuge
Question Type : MCQ
Question ID : 630680280678
Option 11D : 6306801090948
Option 2 ID : 6306801090947
Option 31D : 6306801090950
Option 4 ID : 6306801090949
Status : Answered
Chosen Option : 1
Marks : 2
Q.4 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
She is going to the gym everyday / with her husband / and her elder son / to be fit.
Ans X 1. with her husband
o 2. She is going to the gym everyday
/X 3.and her elder son
X 4.to befit
Question Type : MCQ
Question ID : 630680274408
Option 11D : 6306801066144
Option 2 1D : 6306801066143
Option 3 ID : 6306801066145
Option 4 ID : 6306801066146
Status : Answered
Chosen Option : 4
Marks : 0




Q.5 Four terms have been given, out of which three are alike in some manner and one is
different. Select the one that is different.

" 1. (colon)

X 2., (comma)
#< 3.-(hyphen)
X 4.; (semicolon)

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680274501
6306801066517
6306801066515
6306801066518
6306801066516
Answered

3

0

Q.6 Select the most appropriate ANTONYM of the given word.
Silent

75 1. Violent
X 2. Facile

Ans

w#" 3. Communicative

< 4. Ullen

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680281022
6306801092323
6306801092326
6306801092325
6306801092324
Answered

1

0

Q.7 Select the most appropriate question tag to fill in the blank.

Rupali will come home at 10 p.m. tonight, ?
o 1. won't she?

X 2. isn'tit?
X 3. wouldn't she?

Ans

< 4. mustn't she?

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :

Option 4 ID

McQ
630680274389
6306801066067
6306801066069
6306801066068

: 6306801066070
Status:
Chosen Option :
Marks :

Answered
3
0




Q.8

Identify the spelling errors in the following sentence and select the correctly spelt sentence
from the given options.

The last one of this prolenged proccesion of silent men and women was a litlle wizzened,
weather-beatten old man.

Ans & 1. The last one of this prolonged procession of silent men and women was a little
wizened, weather-beaten old man
X 2. The last one of this prolonged proccession of sillent men and women was a little
wizened, weathr-beatten old man
75 3. The last one of this prolonged proccession of silent men and women was a litle
wizened, weather-beaten old man
Z5 4. The last one of this prolenged proccession of silent men and women was a little
wizenned, weather-beaten old man
Question Type : MCQ
Question ID : 630680252522
Option 11D : 630680980068
Option 2 ID : 630680980070
Option 31D : 630680980067
Option 4 1D : 630680980069
Status : Answered
Chosen Option : 1
Marks : 2
Q.9 Select the option that expresses the given sentence in active voice.
If there was anything wrong, you would have been informed.
Ans X 1.He would inform you if anything wrong was done.
#< 2. He will have been informing you, if there was anything wrong.
/X 3.If there is something wrong, he will have to inform you.
o 4. If there was anything wrong, he would have informed you.
Question Type : MCQ
Question ID : 630680274442
Option 11D : 6306801066279
Option 2 ID : 6306801066282
Option 31D : 6306801066281
Option 4 1D : 6306801066280
Status : Answered
Chosen Option : 1
Marks : 0




Q.10 Select the most appropriate article to fill in the blank.

Do you use ____ iPhone?
Ans X 1.No article required
X 2.the
o 3. an
X 4.a
Question Type : MCQ
Question ID : 630680274489
Option 11D : 6306801066470
Option 2 ID : 6306801066469
Option 31D : 6306801066468
Option 4 1D : 6306801066467
Status : Answered
Chosen Option : 4
Marks : 0
Q.11 Select the most appropriate ANTONYM of the given word.
Affluent
Ans X 1.Opulent
¥ 2. Penniless
/< 3. Stout
< 4. Credible
Question Type : MCQ
Question ID : 630680252543
Option 11D : 630680980151
Option 2 ID : 630680980154
Option 3 ID : 630680980152
Option 4 ID : 630680980153
Status : Answered
Chosen Option : 1
Marks : 0
Q.12 Select the most appropriate option to fill in the blank.
The orchestra a beautiful symphony.
Ans " 1.is playing
/X 2. have played
#5 3. been played
X 4. are playing
Question Type : MCQ
Question ID : 630680280718
Option 11D : 6306801091107
Option 2 ID : 6306801091110
Option 3 1D : 6306801091109
Option 4 1D : 6306801091108
Status : Answered

Chosen Option :
Marks :

1
2




Q.13 Select the most appropriate synonym of the given word.

Delicacy
Ans X 1. Variance
/< 2. Alliance
25 3. Disgrace
o 4. Elegance
Question Type : MCQ
Question ID : 630680252320
Option 11D : 630680979261
Option 2 ID : 630680979259
Option 31D : 630680979262
Option 4 1D : 630680979260
Status : Answered
Chosen Option : 4
Marks : 2
Q.14 Select the most appropriate meaning of the given proverb.
It is never too late to mend.
Ans 4 1. There is always time to improve if we only set about it in earnest.
/5 2. Fortunes like misfortunes do not come alone.
/X 3. We cannot quarrel with those upon whom we depend
< 4. Don't rejoice too soon till all danger is over.
Question Type : MCQ
Question ID : 630680252307
Option 11D : 630680979209
Option 2 ID : 630680979210
Option 3 ID : 630680979207
Option 4 ID : 630680979208
Status : Answered
Chosen Option : 1
Marks : 2
Q.15 Select the most appropriate preposition to fill in the blank.
The correlation health and hygiene is well established.
Ans 4 1. between
< 2.among
X 3. within
X 4. into
Question Type : MCQ
Question ID : 630680274446
Option 11D : 6306801066296
Option 2 1D : 6306801066297
Option 31D : 6306801066295
Option 4 ID : 6306801066298
Status : Answered
Chosen Option : 1
Marks : 2




Q.16 Parts of the following sentence have been given as options. Select the option that contains

Ans

a grammatical error.

In future, / the top-ranking candidates / will appointed in / senior jobs in banks.
#X 1. the top-ranking candidates

75 2. senior jobs in banks
X 3. In future
%" 4. will appointed in

Question Type : MCQ
Question ID : 630680274360
Option 11D : 6306801065952
Option 2 ID : 6306801065954
Option 31D : 6306801065951
Option 4 ID : 6306801065953
Status : Answered
Chosen Option : 4
Marks : 2
Q.17 Select the correctly punctuated sentence from the given options.
We travel initially to lose ourselves and we travel, next to find ourselves.
Ans X 1. We, travel initially, to lose ourselves and we travel next, to find ourselves.
5 2. We travel, initially, to lose ourselves; and we travel, next, to find ourselves.
o 3. We travel initially to lose ourselves, and we travel next to find ourselves.
25 4. We travel, initially to lose ourselves; and we travel, next, to find ourselves.
Question Type : MCQ
Question ID : 630680280619
Option 11D : 6306801090713
Option 2 ID : 6306801090714
Option 31D : 6306801090712
Option 4 1D : 6306801090711
Status : Answered
Chosen Option : 3
Marks : 2
Q.18 Select the INCORRECTLY spelt word and correct it.
J. Krishnamurti is regrated as one of the greatest philosophical and spiritual figures of the
twentieth century.
Ans X 1.rigarded
X 2.reggarded
o 3. regarded
< 4.rigardded
Question Type : MCQ
Question ID : 630680280633
Option 11D : 6306801090770
Option 2 ID : 6306801090769
Option 31D : 6306801090768
Option 4 1D : 6306801090767
Status : Answered
Chosen Option: 3
Marks : 2




Q.19 Select the option that expresses the given sentence in passive voice.

Why does he eat raw bananas?
Ans " 1. Why are raw bananas eaten by him?

#< 2. Why is he being eaten by raw bananas?
25 3. Why did raw bananas eat him?

X 4. How was raw bananas eaten by him?

Question Type : MCQ
Question ID : 630680274439
Option 11D : 6306801066269
Option 2 ID : 6306801066270
Option 31D : 6306801066268
Option 4 1D : 6306801066267
Status : Answered
Chosen Option : 1
Marks : 2
Q.20 The given sentence contains an error. Select the option that correctly rectifies the error.
The children will be going to perform ‘Romeo and Juliet’ in their annual function this
December.
Ans X 1.can be performing
/< 2. shall going to perform
#5 3. should performing
o 4. are going to perform
Question Type : MCQ
Question ID : 630680274393
Option 11D : 6306801066086
Option 2 1D : 6306801066084
Option 31D : 6306801066083
Option 4 ID : 6306801066085
Status : Answered
Chosen Option : 1
Marks : 0
Q.21 Select the most appropriate question tag to fill in the blank.
You won't fail the drivingtest, _______ ?
Ans X 1.would you
< 2. won't you
X 3.canyou
w# 4. willyou
Question Type : MCQ
Question ID : 630680278252
Option 11D : 6306801081367
Option 2 1D : 6306801081365
Option 3 ID : 6306801081368
Option 4 ID : 6306801081366
Status : Answered
Chosen Option : 4
Marks : 2




Q.22 Select the most appropriate meaning of the given proverb.

A nine days wonder
Ans X 1.Taking risk and trouble

X 2.To get news
o 3. Short time excitement

X 4.Togoto bed

Question Type : MCQ
Question ID : 630680274706
Option 11D : 6306801067335
Option 2 1D : 6306801067338
Option 3 1D : 6306801067336
Option 4 1D : 6306801067337
Status : Answered
Chosen Option: 3
Marks : 2
Q.23 Some parts of the following sentence have been given as options. One of them may contain
an error. Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.
The kids who were playing hide and seek in the park were hiding towards the trees to
escape from their mates.
Ans X 1.No error
/5 2. from their mates
% 3. towards the trees
5 4.inthe park
Question Type : MCQ
Question ID : 630680278257
Option 1 ID : 6306801081388
Option 2 1D : 6306801081387
Option 31D : 6306801081386
Option 4 ID : 6306801081385
Status : Answered
Chosen Option : 3
Marks : 2
Q.24 Select the most appropriate option to fill in the blank.
| was relieved to see that my long absence in the job was handled by my boss.
Ans X 1.aggressively
< 2. badly
" 3. craftily
X 4. timidly
Question Type : MCQ
Question ID : 630680280683
Option 11D : 6306801090970
Option 2 ID : 6306801090969
Option 31D : 6306801090968
Option 4 ID : 6306801090967
Status : Answered
Chosen Option: 3
Marks : 2




Q.25 Select the most appropriate option that can substitute the underlined segment in the given

Ans

sentence.

As technology has evolved at a rapid pace, businesses must constantly adapt and stay
ahead of the curve to remain relevant.

25 1. has evolve

o 2. evolves

#< 3.is being evolve
X 4. evolved

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680274528
6306801066626
6306801066625
6306801066623
6306801066624
Answered

4

0

Section : General Knowledge

Q.1

Ans

UrgdR! 2023 T, Wieiicidet 10Tl HRI- HRATdIe YEaeH ThIETs/ 3T (Landslide Atlas)
HehTIRIT hall?
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680269922
6306801048942
6306801048939
6306801048940
6306801048941
Answered

1

2




Q.2
Ans

Siferrensiier arifefther Sam@d=R “mu=T it et g,

o 1. R X 3gHE @H

25 2. HIATT STt Thel i STTETG
X 3. @ 37egd ThHR @

X 4. g st o

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680270076
6306801049557
6306801049556
6306801049555
6306801049558
Answered

1

2

Q.3 ‘ifd Seger-§ Sger ar furmag snefiurge siffera srastear deffarga A= aeft fAwmfor

Ans

gaTa & shedHT Wiefierdh ahioft geardier diseht?
< 1. Aaé @ (Robert Koch)
w 2. TS fa=it (Rudolf Virchow)
#< 3. STeRT Henfaeielas (Barbara McClintock)
X 4. Jemfeie thafer (Rosalind Franklin)

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680270155
6306801049874
6306801049873
6306801049871
6306801049872
Answered

2

2

Q.4 In which year was Justice Verma Committee constituted on Fundamental Duties?

Ans

% 1.1970
7 2.1990

W 3.1999
X 4.1998

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680270097
6306801049642
6306801049640
6306801049639
6306801049641
Answered

4

0




Q.5 WIefieTdhl FHIUTHT TASTYYREBA ATTUT STttt AT TR TATS IUfAT Shetean Afgi=h
hTsS BUTTATS! VaTHET & het SMTOT =T fAe701, derhig Sfo sheumorehrt dar RiAear?

Ans X 1.9 TR fewsed
o 2. TSI AR
X 3. TS ARISH
72X 4. fAemrott e
Question Type : MCQ
Question ID : 630680275223
Option 11D : 6306801069403
Option 2 ID : 6306801069405
Option 3 1D : 6306801069404
Option 4 ID : 6306801069406
Status : Answered
Chosen Option : 4
Marks : 0
Q.6 fagrRuia HivreT T aRaR R 39 SEears o ‘g@rht T4 (‘River of Sorrow’) U
SiiaEdt Sra?
Ans o 1T e
X 2. T T
X 3. wEd A
X 4. ggaad
Question Type : MCQ
Question ID : 630680270530
Option 11D : 6306801051309
Option 2 ID : 6306801051307
Option 3 1D : 6306801051306
Option 4 ID : 6306801051308
Status : Answered
Chosen Option : 1
Marks : 2
Q.7 wfgdtan sifder sifdfam, 2005 = RIETAR, Tl 7= Arfgd! Sgwh & ____ aamadd
Y&TeR g 2MehdTd.
Ans X 1.gwad
X 2. e Ty
X 3. g Ty
W 4. urEE gy
Question Type : MCQ
Question ID : 630680275364
Option 11D : 6306801069970
Option 2 ID : 6306801069968
Option 3 1D : 6306801069967
Option 4 ID : 6306801069969
Status : Answered
Chosen Option : 4
Marks : 2




Q.8 WRATHEA SIITUTT hRUATH STHTEERT MR YRhIRAT vl HATAT=H S8?

Ans X 1. giferdr snfor srfera simererstaft darera
w 2. T T
< 3. ST
X A QTSR =T 3MfoT erHieor ATy
Question Type : MCQ
Question ID : 630680275791
Option 11D : 6306801071678
Option 2 ID : 6306801071676
Option 31D : 6306801071675
Option 4 ID : 6306801071677
Status : Answered
Chosen Option : 4
Marks : 0
Q.9 fiEieT eRmraRTed afaaielt d gh sraeama, gt AT AV 3 Ahdl.
Ans X 1.5fEa
o 2. gl U
X 3.9 AR
X 4 dds
Question Type : MCQ
Question ID : 630680287489
Option 11D : 6306801117865
Option 2 ID : 6306801117864
Option 31D : 6306801117866
Option 4 ID : 6306801117863
Status : Answered
Chosen Option : 4
Marks : 0
Q.10 1854 #ed A} Rt ufgelt gy gamard Mroft i w=uare s
Ans X 1.3z
W 2. 91
X 3. serepar
X 4. BAR
Question Type : MCQ
Question ID : 630680270058
Option 1 ID : 6306801049483
Option 2 ID : 6306801049484
Option 3 ID : 6306801049485
Option 4 ID : 6306801049486
Status : Answered
Chosen Option : 2
Marks : 2




Q.11 #rfReh 1fAhR FHrergHaR (RTI Act), shivrdrgl g mfgedt smg<h aarht aq guf
ST SAT YETeR G 2Ahd ATEL.
Ans " 1.65
X 2.66
X 3.62
X 4.60
Question Type : MCQ
Question ID : 630680275251
Option 11D : 6306801069516
Option 21D : 6306801069515
Option 31D : 6306801069517
Option 4 ID : 6306801069518
Status : Answered
Chosen Option : 1
Marks : 2
Q.12 T 2022 AeA, el TR A2 Hret FHT G el g1 TISTHT hIRTRIAT @Iefierteh! Siorer
sofieft Hefda emg?
Ans X 1. 90l |V oefier amgehig ey
X 2. T hEERY
g 3. TTYHH AR
X A IR RrEy
Question Type : MCQ
Question ID : 630680275647
Option 11D : 6306801071101
Option 21D : 6306801071099
Option 31D : 6306801071100
Option 4 ID : 6306801071102
Status : Answered
Chosen Option : 1
Marks : 0
Q.13 2023 Tl sriaRTdg Sfdes e A smd.
Ans o 1. IRRIUIGH Siudd : Stafafaerds gaf-Hior s
X 2. 3mget gETe fAia e
25 3. STt gETYEIG gt el #ForNature
X 4. gd Sifqarardt amie vfasy qar a=ot
Question Type : MCQ
Question ID : 630680269907
Option 11D : 6306801048881
Option 21D : 6306801048882
Option 31D : 6306801048880
Option 4 ID : 6306801048879
Status : Answered
Chosen Option : 1
Marks : 2




Q.14 YWeR 2022 A HIUTAT AT URATAIE ufgel a femdfis Rmu svararsten sifafaaw aika

Her?
Ans X 1. fgamad wear
X 2. FuTer
o 3. demron
X 4. TSR
Question Type : MCQ
Question ID : 630680275603
Option 11D : 6306801070923
Option 2 1D : 6306801070924
Option 31D : 6306801070926
Option 4 ID : 6306801070925
Status : Answered
Chosen Option: 3
Marks : 2
Q.15 URHAN ISTIEAAIANTDE 25 & 28 Wiefierdehl shivret MeEiM Haifda smaa?
Ans o 1. SEEICTE Gekh
X 2. giepfaen snfor terfores gaeh
< 3. guET g9k
X 4. MufaSg gk
Question Type : MCQ
Question ID : 630680270110
Option 11D : 6306801049693
Option 21D : 6306801049692
Option 3 ID : 6306801049691
Option 4 ID : 6306801049694
Status : Answered
Chosen Option : 1
Marks : 2

Q.16 SifeRIaRA, Shfees HATEaM ST SIRETUT 3% a3+ fehdl! TarerIiUdd aTefavaraTSiaT srearder

HR Shell?
Ans X 1.6%
2. 7%

X 3.5%

X 4.10%

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680275625
6306801071012
6306801071013
6306801071011
6306801071014
Answered

4

0




Q.17 @refierd<hr Stvrear gausm RTuT R & gis Wrdsagd YRard deft gidt?

Ans o 1. TEE
X 2. e HRR
X 3. s
X 4. T RIS
Question Type : MCQ
Question ID : 630680278314
Option 11D : 6306801081613
Option 2 1D : 6306801081614
Option 31D : 6306801081616
Option 4 1D : 6306801081615
Status : Answered
Chosen Option : 2
Marks : 0
Q.18 A& vfrzar Tew IR Wi fohed givT R Aixit urda EicpE
UATaieR Tdf hRUATATS! WRATd UTSaudTd 31T,
Ans X 1.9t
2 2. freqor
W 3. iy
X 4.3
Question Type : MCQ
Question ID : 630680270071
Option 11D : 6306801049536
Option 2 ID : 6306801049538
Option 3 1D : 6306801049537
Option 4 ID : 6306801049535
Status : Answered
Chosen Option: 3
Marks : 2
Q.19 ‘SR Iwared (SFfgae Sifth shre)’ & gesh it fafga.
Ans o 1. 37 d1.3R. JidEaR
X 2. g@dg ¥R
X 3. anfsfiers et
X 4. <o ot
Question Type : MCQ
Question ID : 630680275880
Option 11D : 6306801072032
Option 2 ID : 6306801072034
Option 31D : 6306801072033
Option 4 1D : 6306801072031
Status : Answered
Chosen Option : 1
Marks : 2




Q.20 # 2022 A, THH TR fohel I HUEETR TR &I SeUHEdTeh THTOTTS SUTTT

faofa dae?
Ans #1116
X 25
X 3.4
X 4.2
Question Type : MCQ
Question ID : 630680275648
Option 11D : 6306801071106
Option 21D : 6306801071105
Option 31D : 6306801071104
Option 4 ID : 6306801071103
Status : Answered
Chosen Option : 1
Marks : 2
Q.21 e hist Wuf-2022 Afie wivaues fAOsidt e s @refierdd! weneft d&@fde smga?
Ans X 1. U7 97T thep
X 2. o fakersht
X 3. U T
o 4. 01 Tt A
Question Type : MCQ
Question ID : 630680270046
Option 11D : 6306801049438
Option 2 1D : 6306801049437
Option 31D : 6306801049436
Option 4 ID : 6306801049435
Status : Answered
Chosen Option : 2
Marks : 0
Q.22 @refterdehl v Feaod weleara Y afrea Arg?
Ans o 1.t ST ST SicrsrsTaviia sga.
25 2. A ureeRft SRl AR A AR, A TR ARTRER AT G eheledid UTel e,
X 3.t R Siarurgtar faRivd: R Sepdar smex onfo ae wevarer SR 3dr.
75 4. T Shefed g AN STIfOT Afden S1em glgt WWuT STed.
Question Type : MCQ
Question ID : 630680275854
Option 11D : 6306801071929
Option 2 ID : 6306801071930
Option 31D : 6306801071928
Option 4 ID : 6306801071927
Status : Answered
Chosen Option : 1
Marks : 2




Q.23 HIUTET STFUCHh g SUTH SR HTIRIT STRFITHATS) STk 3HTa?

Ans X 1.fafds
W 2.7
X 3.
X A Faleh
Question Type : MCQ
Question ID : 630680270150
Option 11D : 6306801049851
Option 2 ID : 6306801049852
Option 31D : 6306801049853
Option 4 ID : 6306801049854
Status : Answered
Chosen Option : 2
Marks : 2
Q.24 YR Z1eheur=an AT SehTeT ATeaT-aR A=Y HIvTT &1 Al fRAvTTer Sidt?
Ans o 1. SUTCTET SUUTR SMTOT SRt Feggrea
2< 2. ufsye are Snfor gd =re e
< 3. Rl g enfor i) AeramR eman
X 4. TgaTerg SnfoT SXE=<aT USRI=AT ARAT
Question Type : MCQ
Question ID : 630680270182
Option 11D : 6306801049980
Option 2 ID : 6306801049981
Option 31D : 6306801049979
Option 4 ID : 6306801049982
Status : Answered
Chosen Option : 1
Marks : 2
Q.25 A UehTSTH! STaTaer) (& Srf) @refierddh wiurd smg?
Ans X 1. Tk HMRITHY I8 ot
X 2. Hasfd g Ot
o 3. Troft 30T Uiweh qeari=! a8 et
X 4. o SifsaTd aga o
Question Type : MCQ
Question ID : 630680276562
Option 1 ID : 6306801074744
Option 2 ID : 6306801074746
Option 31D : 6306801074745
Option 4 ID : 6306801074743
Status : Answered
Chosen Option: 3
Marks : 2

Section : General Intelligence




Q.1 7o fhwdtemn e s g 20% 7w Reauarand) gurda fdt varone uoft Rves 1«

ifge?
Ans X 1.1:6

X21:4
w315
X 4.1:3

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status
Chosen Option
Marks

McQ
630680277298
6306801077644
6306801077642
6306801077643
6306801077641

: Answered
12
.0

Q.2 aS g1 4 km/h a1 AT AT AT MM AT IO 20 km/h T Fhear URaT. aT gahi

VTS AT GRS a7 foheft emg?

Ans % 1. 6 km/h
X 2. 12 km/h
X3 8Llkm'h

w4 zg—ulcmfh

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680287420
6306801117589
6306801117587
6306801117590
6306801117588
Answered

3

0

Q.3 Rk arfernr adhgear gof ghvarand usifegrean (?) swft @rfierddl wiorar vafa sme oifgst?

6,12, 20, 30, 42,?
Ans X 1.61

o 2. 56
7 3.58
X 4.55

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680256925
630680997614
630680997612
630680997613
630680997611
Answered

2

2




Q.4 UehT JTESTH il 5 cm 7 mm 3M1. 9 cm 6 mm ST MU Teh JUTES A= 2= et

Ans X 1.14cm3 mm
75 2.14cm6mm
K 3.15cm7 mm
o 4.15cm 3 mm

Status
Chosen Option
Marks

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

McQ
630680277265
6306801077510
6306801077512
6306801077511
6306801077509

: Answered
14
12

Q.5 e e enfor frserd Aergdes aran. Rumimed e At & am=agot 7ra awidaf
NSS! AT SMTEBA, aI ol T T 3 T o, feciear Frepufah wiorar/d fArend
fetear faem=ish aeheiea smgd/smad & a<ar.
faem:

Tehgl @ia, fasist 1Y, Tearg fasit, streror A1t
e 1:qa@d FiTeRvT, @i e T
farserf 2: < @ia, FTeRUY 3ME4.
Ans o 1.1 fohar 2 3R Uedt ey aeheia el
X 2. haes sy 2 adhda amg
< 3. Fhaes fspef 1 qdhdTd smg

< 4.1 foa 2 g al-gY frsend ek amga.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680276984
6306801076431
6306801076430
6306801076429
6306801076432
Answered

4

0




Q.6 Ueh FHMER ¥2,000 STdiet fhweii=am Gert a¥eqar 20% 31for 15% <ft Tent daeta &at. @ ot awqg,
fereft fehwrefiem fRremeft?

Ans X 1.31,200

X 2.%1,240
o 3.31,360
< 4.31,300
Question Type : MCQ
Question ID : 630680287161
Option 11D : 6306801116552
Option 2 ID : 6306801116553
Option 3 ID : 6306801116554
Option 4 ID : 6306801116551
Status : Answered
Chosen Option: 3
Marks : 2
Q.7 e Arferen adhgear yuf svardt ? =1 ®IT &/ e urfast?
H65, J101, L145, N197, P257, ?
Ans 4" 1.R325
< 2.R323
< 3.R326
X 4.R322
Question Type : MCQ
Question ID : 630680272777
Option 11D : 6306801059668
Option 2 ID : 6306801059669
Option 3 ID : 6306801059670
Option 4 ID : 6306801059667
Status : Answered
Chosen Option : 1
Marks : 2
Q.8 AT B =1 fawe shrferd smmg STfoY FgUA TeT Geht 1 quf FHRuars B =T gei-id 60 faw &+t
AnTaTd. A W dheur, @ § o fhedt Rawid & rarara?
Ans 51 30fead
1
o 2. zziﬁa-—ﬂ
X 3. 25fgad
X 4 20f¢aH
Question Type : MCQ
Question ID : 630680287447
Option 11D : 6306801117698
Option 2 ID : 6306801117696
Option 3 ID : 6306801117697
Option 4 ID : 6306801117695
Status : Answered
Chosen Option: 3
Marks : 0




Q.9 wrefie aRAh fi=r yafaia g fAafre arewf g snfor e i ges e aurR gial. wiorar

gty &1 Terd 994 Argl?
Ans X 1.PXR
X 2.XFZ
< 3.BJD
f 4. FNJ
Question Type : MCQ
Question ID : 630680271626
Option 11D : 6306801055576
Option 2 ID : 6306801055579
Option 31D : 6306801055577
Option 4 ID : 6306801055578
Status : Answered
Chosen Option : 4
Marks : 2
Q.10 ofi= HATHTT Y= HRUATHTS! sichehge €2,00,000 IR Tt Oad. 2 gui-aR arfties 7% &= ot
forelt TReseaTST WRE?
Ans 4 1.328,000
X 2.%26,000
25 3.324,000
< 4.328,500
Question Type : MCQ
Question ID : 630680287185
Option 11D : 6306801116649
Option 2 1D : 6306801116647
Option 31D : 6306801116648
Option 4 ID : 6306801116650
Status : Answered
Chosen Option : 1
Marks : 2
Q.11 22 kg 589 g + 19 kg 678 g wgUTSt fet gara?
Ans o 1.42kg 2679
X 2.42kg 3679
K 3.41kg267g
X 4.41kg367¢g
Question Type : MCQ
Question ID : 630680277264
Option 11D : 6306801077506
Option 2 1D : 6306801077508
Option 31D : 6306801077505
Option 4 ID : 6306801077507
Status : Answered
Chosen Option : 1
Marks : 2




Q.12 Rewar sigR-uigiear S Seedn SaUnrTuY S Hae 2ffaumr sier-aqg Rewar
vafaige Rt

GWM : NDT
CTJ:JAQ
Ans X 1.GUP:NAW
X 2.TFR: ALY
< 3.VNE:CTL
f4. UJM : BQT
Question Type : MCQ
Question ID : 630680272712
Option 11D : 6306801059408
Option 2 ID : 6306801059409
Option 31D : 6306801059410
Option 4 ID : 6306801059407
Status : Answered
Chosen Option : 2
Marks : 0
Q.13 ek AT YehT a1, Srargreat 29 11 km/h 3mma A= o 3nfor vargren fasg kA 5
km/h T FehraA @va. @R fRR grvardie Jre= & faaedt emg?
Ans " 1.8km/h
X 2.3km/h
< 3.5km/h
X 4.9km/h
Question Type : MCQ
Question ID : 630680287439
Option 11D : 6306801117665
Option 21D : 6306801117663
Option 31D : 6306801117664
Option 4 ID : 6306801117666
Status : Answered
Chosen Option : 1
Marks : 2




Q.14 Zusht quishaTeR eneamRe Reear mferdha usR=gren (?) SInft @ araen ga?

Ans

Y,QAS?
Xy
X 2T
X 3L

o 4.K

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680272737
6306801059507
6306801059510
6306801059508
6306801059509
Answered

4

2

Q.15 SR+ for '~ Ti=h sreereaee el oY ‘%’ 3oy '+’ gi=h SreeTae dhell, ar @refter Gfieoa

Ans

usiR=grean (?) seft srg ade?
15+14+131-729x81="2
X 1.78

7 2.87

X 3.68

W 4.88

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680272725
6306801059460
6306801059461
6306801059462
6306801059459
Answered

4

2

Q.16 i<t mforent adhgear gof glvarandt, usiRrgre (?) SRl R yataids sivmar gata ser
ifgst?

Ans

DE27 FG34 1J41 MN48 ?
o 1.RS55

X 2.ST55
X 3.QR54
X 4.RT54

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680277056
6306801076720
6306801076718
6306801076717
6306801076719
Answered

1

2




Q.17 Rah R enfor fAserd wergdes aran. famimsd e afgedh & gt aa awaideft
NSS! AT SMTEBA, al ol T 3T 3 TR oA, fciear Frepufah wivrar/d frend
Rtear Rrum=ift adhdma eng/emdd & a<ar.

forsepef 1: STEY Wi, Bosuft amdd.
frenef 2: It TToR, FEd MR,
Ans X 1. fswy 1 fohar fAsed 2 ardeht uegt adhTd et
W 2. s 1 3n1for 2 5t ke smea
X 3. thaes feey 2 Tehgd 3

X 4. e frswy 1 adhdTd g

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680271596
6306801055458
6306801055459
6306801055457
6306801055456
Answered

2

2

Q.18 Qe SO gohaR ¥95 ufd faheit 7 fovmdtean Rt diges fAeroaran gmar &, uig at
TIRE AT aorTeR 1 kg feifgst ong, ueaena @ asi=1 950 I17 o11g. aredfaeh 100 kg
ST diges fage dt forelt ot FwTder?

Ans X 1.3275
& 2.3500
X 3.3475
X 4.3375

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680287170
6306801116587
6306801116590
6306801116589
6306801116588
Answered

3

0




Q.19 #-fiu= arfifer TUHTER, aTftfer 5% eATSTERT™ Yk SxIfdeh YA &4 UL dael, 3 auf=ar Aaét

wftoeT ggur 292,610 vaRd fAwrelt. a-iium 3a wgupT Sase ann fard gidi?
Ans 4 1.380,000

X 2.%79,460
/< 3.380,530
X 4.382,610
Question Type : MCQ
Question ID : 630680287218
Option 11D : 6306801116780
Option 21D : 6306801116782
Option 31D : 6306801116781
Option 4 ID : 6306801116779
Status : Answered
Chosen Option : 4
Marks : 0
Q.20 RAear arferdhasd ? =1 T & 3Tet UTfgs?
1,4.5,10,17.5, 27, 38.5, 52, 67.5, ?
Ans 4" 1.85
X 2.87.5
< 3.83
X 4.925
Question Type : MCQ
Question ID : 630680272785
Option 11D : 6306801059701
Option 2 ID : 6306801059700
Option 31D : 6306801059702
Option 4 1D : 6306801059699
Status : Answered
Chosen Option : 1
Marks : 2

Q.21 @refter Arferdhar Tef em nfor wem IR o, (T ST dhae Yah-3ihl ST simgd)

(31)35648976237896532457897654 3 (Irh)

1d 319 foreft fawm sier enga, Sai=ar uderrean aiter et Teh Ay 3fer A4t enfor ad= e

Ans X 1.9R
X 2. U=
o 3. TE
X 4.9@

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

McQ
630680272697
6306801059347
6306801059349
6306801059350
6306801059348
Answered

3

2




Q.22 Uk 98 6 ATHid Yeh Tehl W 2Ahal. 3ieff a1l sRearHaR, g R et ofiF e Susa
SiTeTd. erehl gofutt sRuarst gegpor fhedt de amier?

Ans X 1.4
o 2.3 45 R
X 3.3am 15
X 4 4T 15 R

Option 2 ID

Option 4 ID

Question Type :
Question ID :
Option 11D :

McQ
630680287476
6306801117813

: 6306801117812
Option 31D :

6306801117811

: 6306801117814
Status :
Chosen Option :
Marks :

Answered
2
2

Q.23 WRSEETAT: 25 + 5+ 3 x 60 - (17 x 200 + 40).
Ans X 1.64

X 2.88

o 3.100

X 4.110

Option 2 ID

Option 4 ID

Question Type :
Question ID :
Option 11D :

McQ
630680277242
6306801077417

: 6306801077418
Option 31D :
: 6306801077420
Status:
Chosen Option :
Marks :

6306801077419

Answered
3
2

Q.24 wErefte IRAHR = gafaia g fafre et eng snfoy e i ges e aarR gial. wiorar
gata & e a9d ATer?

Ans X 1.WBH
X 2.UZF
X 3.NSY
W 4. TYB

Option 2 ID
Option 3 ID

Question Type :
Question ID :
Option 11D :

McQ
630680271620
6306801055555

: 6306801055554
: 6306801055553
Option 4 1D :
Status :

Chosen Option :
Marks :

6306801055552
Answered

4

2




Q.25 feiear sraR-uggi=T WEH sraewaT HeuTHTOE TA ey EffaumRT srer-wg Retear

vafaige Rt
IYO : MCS

EVL : 1ZP
Ans o 1. TGB : XKF
75 2.CKI:GPM
#< 3.HJIN:LOR
< 4.AGR:ELV

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680272714
6306801059418
6306801059417
6306801059416
6306801059415
Answered

1

2




